REDROCK

LIMB RISERKIT

(2021-2023+ BRONCO)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED
(2) Limb Riser Cables T-30 Torx Socket
(1) LH Windshield Mounting Bracket 5mm Allen Key/Socket
(1) RH Windshield Mounting Bracket 10mm Socket

(2) Fender Mounting Brackets Ratchet

(2) Adjuster Assemblies 10mm Wrench

(2) M8 Allen Bolts 13mm Wrench

(2) M8 Lock Nuts

(4) M6 Torx Bolts

(4) M6 Flat Washers

(1) T-30 Torx Key

SKU # FB26837
Edited: 02/09/2023



REDROCK

STEP1

Locate the fender mounted accessory mounting point. Remove the (2) T-30 Torx bolts in the
accessory mount, but do not remove the threaded insert. The threaded insert will be reused.

STEP 2

Mount (1) fender mounting bracket to the accessory mounting point using the provided (2) M6 Torx
bolts and (2) M6 flat washers. Thread the included hardware into the vehicle threaded inserts.



REDROCK

STEP 3

Locate the “Accessory Ready” panel above the windshield. Remove the cover by pressing the
release tab and pulling the cover away.

STEP 4

Remove the (2) 10mm nuts from the inner plastic panel, and remove the plastic panel from the
vehicle.

Note: The (2) 10mm nuts will be reused.



REDROCK

STEP 5

Align the appropriate windshield mounting bracket to the vehicle, take note to the direction of
the outside of the mount to identify each side. Then, secure the mount into place using the
original (2) 10mm nuts.

STEP 6

Secure the eyelet of the limb riser cable to the windshield mounting bracket. Ensure the eyelet is
towards the inside of the vehicle.



REDRQOCK

STEP 7

Secure the adjuster assembly to the limb riser cable by pinning the cable eyelet through the

adjuster assembly pin. Then, loosen the adjuster and hook the front hook into the previously
mounted fender mounting bracket.

Tighten the limb riser cable, and then tighten the (2) jam nuts to lock the adjustment into place.

STEP 8

Repeat steps 1-7 to secure the limb riser to the opposite side of the vehicle.

Installation is now complete.



	FB26837 - RedRock - Limb Risers (21+ Bronco)-01
	FB26837 - RedRock - Limb Risers (21+ Bronco)-02
	FB26837 - RedRock - Limb Risers (21+ Bronco)-03
	FB26837 - RedRock - Limb Risers (21+ Bronco)-04
	FB26837 - RedRock - Limb Risers (21+ Bronco)-05

